N & o & AF & H Al A
2018 & =0l & LBHSIH E X 22|t
2N EXZel
g EXHE AL HEt
Chel: EXNSHESRY F= (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
EX el 2,201,685 364,266 1,837,419
Al 14,065
- 2,187,620
EXNHFO AMUlA 23 2,095,815 260,396 1,835,419
Al 14,065
- 2,081,750
EXNSMNESER H= 1,926,564 166,394 1,760,170
Al 14,065
- 1,912,499
SAXDOE A E AH 66,243 45,818 20,425
101 @124l 9,410 8,682 728
4 JI2ZtHZ22 s+ 9,410 8,682 728
O WEBAXIOb A 4T BX 9,410
- YR (F, HXRIY TH)
66,6303 x1H 120 7,996
- FUAZIEHEE 7,996,000& x4.5% 360
-MHEE R 7,996,000& x0.9% 72
- 1888 a 7,996,000& x1.5% 120
- AdLEER 7,996,000 %3.06% 245
- LoEIRYEE R 245,000 x6.55% 17
- SNEE 300,000 300
-HEAMAHS 300,000& 300
201 LB-2d| 55,333 36,336 18,997
01 At 22l 55,333 36,336 18,997
O XNIJbEA EEE Y 100,000& * 154 1,500
O XNtz Mol & &6 =4 3,960
- ZHAEEX 48,000 x202 960
- 226 ¢€3 280,000& =104 2,800
- XNIHEHEZE Ot A 20,000& x 104 200
O HWESANXIN BESx=r2 40,798
- MEXOL EE 43,600 33,000 Xl /42 34,258
- YAMEXI BB 43,600 *50& Xl *50% 1,090
- Ol EXIt BE 43,6003 x250E Xl *50% 5,450
O MHESANXIH 2EHSXE MH &5
330& 27,500 9,075
203 YR =&l 1,500 800 700
03 A F=XH R =AH| 1,500 800 700
O EXgR g4d3 =8 1,500, 000& 1,500
Hgolda=H 29 10,500 10,500 0
201 LBt 10,500 10,500 0
01 At 22l 10,500 10,500 0




2AM: EXl2elt
3N EXdIe MHlA 23

29 EXNSHEL R FF (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O HZ=g= Heos=o & 8442
3,500,000 »32A 10,500
ol Fes A= e 2,182 2,662 1480
201 £B-2dH| 2,182 2,062 120
01 At 22l 2,182 2,062 120
O H20ld Zg d¥agd 24 800
-gs= 2 =2EF Y 200,000& »23] 400
- 22X =24l 8,000& »23| x25%H 400
O AR 2A HAl S M 5,000& x50 250
O 2sdddN & B2 E Hteld
10,000& *70H 700
O sJle 228 7Y 432
- 24 110,000 =14 110
-2 22,0003 =44 88
- =3 ¢2EX 7,000 x20H 14
-=geggd EX 220,000 » 12+ A 220
CXE XN&EHF Jjgt A= 50,868 107,414 A 56,546
Al 14,065
- 36,803
201 Let249] 49,368 80,234 30,866
Al 14,065
- 35,303
01 At 22l 42,830 72,912 A 30,082
O 3RENEE 5,000
- oM g MEEEFY 2,000,000& 2,000
-EE2=2 M& 2,000& +1,500& 3,000
O XNBEAML INZHH, NESR L SHIEE
22| 9,700
- EXHHQASY 2IES M
1,500& *2,000% 3,000
- NEMMEH E2H X 7Y
47,0003 102 470
- ANEMMEH EZH JECKXN 2L
250,000& =104 2,500
- NESSEANUE HIH 7L
50,000& =104 500
- EX0ISUENL 485 HA Y
30&+10,000& 300
- NESHEA 222 2 80,000& x5& 400
- ANB=SEIE=E 22 126,500& 20 & 2,530
O XNEJEE MASXAH e =2 (3788
) 28,130,000 28,130
Al 14,065
- 14,065
02 =224l 6,538 7,322 AT784




2N EXZel
g EXHE AL HEt
Chel: EXNSHESRY F= (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O XNEAMD SX2el 1,330
-2 g5 2l ¥ EH WM 850,000& 850
- &M Y &M £X 40,0003 =128 480
O 2N g8 REE 2,1703 %8001 33| 5,208
203 ¥ S =&l 1,500 1,600 A 100
03 AIF=XH 2 =AH| 1,500 1,600 A 100
O XNEz2H 2AJ3 29 1,500, 000& 1,500
KN ETHEALALS =& 1,796,771 0 1,796,771
201 Zer24] 25,331 0 25,331
01 At 2t 2l 25,331 0 25,331
O XNAETHZEAL AL 25,331
- NEHEAL E22 ME 2,000& *1,5000H 3,000
- NEMEAN ZHZ 2B +4+2(22)
43,6002 90 & X #20H A +1.1 8,633
- NEHEAM ZE3 0120 F0 GE 2EHE
g (R1,2)
43,6003 #7142 X %20%*20H 1.1 13,698
202 044l 1,440 0 1,440
01 = LH o4 1l 1,440 0 1,440
O NETHZAY EEZA K]
20,0003 x4 32«6 1,440
301 et a = 1,770,000 0 1,770,000
MIIEEd=3 1,770,000 0 1,770,000
O NEMHEAM ZHS(R1X 7 3232 X))
1,770,000, 000& 1,770,000
Fs4 dF2el 7,600 2,400 5,200
FSUSHEA SHEA A0 Iyd=sH 2 1,000 1,000 0
301 et d = 1,000 1,000 0
NMJIEEd=s 1,000 1,000 0
O 28 SHde JOT Zo3
500,000& »224 1,000
FSHSHIE L 22 N& 1,600 1,400 200
201 Let249] 1,100 900 200
01 At 224l 1,100 900 200
O 3 S35 AM 1502 *1,0000H 150
O dMIMS &M 50& «5&+3,0000H 750
O SHARA 22l REE AEIH WHH
100& *2, 00004 200
203 YR =&t 500 500 0
03 Al =AY 2= 500 500 0




2AM: EXl2elt
3N EXdIe MHlA 23

Sl REa BB CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O BESUIHY HAEAN =8 =&
500,000& 500
Es& A MM 29 5,000 0 5,000
301 gt d= 5,000 0 5,000
1MIIEBESS 5,000 0 5,000
O 234 A3 A AKX EZa3
1,000, 000& x5 5,000
E2Y FAMHYY HE 161,651 91,602 70,049
C2H Y ASHSREHAIY 146,651 81,602 65,049
201 Let24d] 15,562 12,842 2,720
01 At 2teltl 14,260 11,000 3,260
O E2H=A GHWAE HMZ
10,000& x1,000% 10,000
O A2E P9 o #20 HE
100,000& * 103 1,000
O M=4A2tAd Mol 2 THES 3,260
- £2H EX 50,000& x 104 500
-Z2H €3 250,000& *4H 1,000
- ZHEZBE 23 440,000& =44 1,760
02 2324l 1,302 1,842 A 540
O 8NEH AL X E 24|
11,220,000& *0. 1 1,122
O ADIE KAIS OIOIH 23 15,000& =128 180
203 ¥ S =&l 500 600 A 100
03 AIHF=AH R =AH| 500 600 A 100
O E2HFAYR 45 =2 500,000& 500
308 XX EHSOIA 14,993 14,560 433
10 B3I/ 2SOHUHSEAEEALS I 14,993 14,560 433
O GIS A& S/WRXE2=> 13,418,000& 13,418
O 284 Jl2k 885 1,575,000& 1,575
401 Al HIZ 201 I 97,900 50,000 47,900
01 A& HI 97,900 50,000 47,900
O E2l8Es 4 250,000 x80& 20,000
O X=x4a E2FHE X 20,000,000& 20,000
O E28=FA AIEd2 |RXE=  10,000,000& 10,000
O S2YZL ASHUST MLIA
2,000& *15,0000H 2 30,000
O &A= A8 41 2 2
5,000& *500& 2,500
O g7 284 ¢HHE WM M
1,800, 0002 *1H 1,800




2N EXZel
g EXHE AL HEt
S E2Y FAAYS FEE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 8 T2Y:A OtHE WA E
800,000& 17K 13,600
405 TtabH S| 17,696 3,600 14,096
01 AL ESFH S 17,696 3,600 14,096
O TRUTA T 238 226 79
17,696, 0002 = 1CH 17,696
C2¥x=A B8 =4 15,000 10,000 5,000
201 Let249] 15,000 10,000 5,000
01 At 22l 15,000 10,000 5,000
O 282 22 MH 3,000& *5,000& 15,000
HH2HZH(EX 22| t) 101,870 99,870 2,000
Jledul(EXI&el ) 101,870 99,870 2,000
JI2ZH(EX2elt) 101,870 99,870 2,000
201 Let4d] 23,750 21,750 2,000
01 At 22l 21,600 19,800 1,800
O BA2EIIE+8H| 40,0003 x22H <123 10,560
O BAI=g24s S A
8,000& «22H 541« 123 10,560
O d=J| &2 40,000& 123 480
02 =24l 2,150 1,950 200
O =SADI, Z8Hd sX2el 200,000& =63l 1,200
O EXOISHEEHN LLYTRY 2528
150,000& »1H 150
O E2H, ¢8I 8 |X22l 200,000 404 800
202 044l 73,920 73,920 0
01 S LHOIYI 73,920 73,920 0
O =gl +=d 204
20,0003 x22H x143| x 128 73,920
203 YR =] 4,200 4,200 0
04 EASIYRFLH 4,200 4,200 0
O BA2Yg gRF2AH 350,000& 122 4,200
Hees(EX22 D) 4,000 4,000 0
BEXNE(EX 2l ) 4,000 4,000 0
BEXNE(EX 22 D) 4,000 4,000 0
802 Btet= DI Et 4,000 4,000 0
(ICEnIgel=g=g= 4,000 4,000 0
O NHegRE= &) &5 2,000,000& »2A 4,000




